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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TC DO SO

T.B.C. : HGY-D-LKUV Test Booklet Series

Serial No.

TEST BOOKLET
GENERAL STUDIES
Paper—II
Time Allowed : Two Hours Maximum Marks : 200

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test Booklet in
the Box provided alongside, DO NOT write anything else on
the Test Booklet.

4. This Test Booklet contains 80 items (qugstions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark
the response which you consider the best. In any case, choese ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks. .

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. )

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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Frafeafad 6 (w:) wwaio & fore fdw .

H feu 7y uter ofeas) @) ufer oft ufssel &
A A T F I AR T T ¥ s W
Fad ¢ 9=l WA snarfa 2 =l

TREdg—1

wid A, Red o som su s, afes FR R
B W §, Wg A Faa Fmiv o f-defiga fafmio &,
it foF T SEw USRS 8 R, s @ 81 Qe
SEl g g Al IereEe Adt B, s
TSR SR 399 48 = W & fedh 3w @)
HTEwFFA B KA H AT a9 e 24 fifr
et B rraREsRal g T A9, $-=WR, AR
%+ R ﬁw—@-mﬁ?ﬁaﬂm%ﬁmm|wﬁi
¥, S i AT H TGEl od §, NQ @R qwn
g, 21w =1 9T B gAAgES Wogwd §

1. yi=ae & Frafifaa # 4 $9-a1 w gaffis
wewarquf fafgard 87

(@) TR wEh &3 A % Tees o
w0 % T %2 wew Jan it sTavEea
| ‘

(b) Tamior qon -wshigpa R & =0 w0
=1 feufer § gur @ =iy

(c) a1 Heet SUFTRE 6 goean Y w1 Ha
W

(d). F9 T T VTR 394 FEH & o
IR A H W o Se ST B
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A 8 Fstar % AER W adum s Ried qn 6
FT FoM TRAEFAH R giE g1 B R siftrer
arelgs FEmR aff d R AR ar el Rk
T A sfi el & forg @1 Seren % R, Frel =R
% AW T F foeg gan A arafis Iuesya w
o @ sfieafs o srftmr seida 3, o) 5 5o
ghHlga = 5 5% @ afer = Rowad gl H
WA & Twe 3 R S %) i I 6 e
ittt wam ahafe § srEe da &0 § s
o= € e R g 7 o v e @ ghifa st
TR-TTHR TEHR TR Fa%g A H U&7 8|

2. I7% TR % snur W Pefifaa g
% T E

1. fefee wm # 9 & g ¥ft weund
B =iy St e e afem @
g =t g3

2. TG I G e =ity B R-wer
&R ATTIER B s F wRmR w5
&9 A W

3. TeRme wsidegeren At & o =t
T T HA F faEr @ gue T8 R

SERE H A - e /ghanomt 3y
B/87

f@ 13R2
(b) Fad 3
(¢ 133
(d) Faet 2
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Directions for the following 6 (six) items :

Read the following five passages and answer
the items that follow, Your answers to these

items should be based on the passages only.

Passage—1

In India, over the last decade or so, labour has
been departing agriculture, but is only going to
construction and unregistered manufacturing
which are not markedly better jobs. Services,
where labour tends to be most productive, are
not generating the additional jobs the country
needs. India will need 24 million or so jobsl over
the next decade. The new sector, e-commerce,

can at best close only half the jobs gap. Only

those sectors that drive domestic demand such *

as health and education can comfortably fill the
other half.

1. Which one of the following is best
implied in the passage?

(a) Strong measures need to be taken
to reduce the rural to wurban
migration of labour.

(b) The working condition in
construction and unregistered
manufacturing needs to e
improved.

(c) Service sector has been reducing
the problem of unemployment.

(d) Increased social sector spending

is imperative for large-scale job
creation.

HGY-D-LKUV/59A
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‘Passage—2

In India, the current focus on the right to
privacy. is based on some new realities of the
digital age. A right is a substantive right only if
it works in all situations, and for evervone.
A right to free expression for an individual
about her exploitation, for instance, is
meaningless without actual availability of
security that guarantees that private force
cannot be used to thwart this right. The role of
the State, therefore, is not just to abstain from
preventing rightful free expression, but also to
actively ensure that private parties are not able
to block it. -

2. On the basis of the above passage, the
following assumptions have been made :

1. State should have some
institutions to ensure its
appropriate role in a digital society.

2. State should ensure that private
parties do not violate the citizens’
right to privacy.

3. Digital economy is not compatible
with the idea of not vielating the
citizens’ privacy.

Which of the above assumptions is/are
valid?

{a) 1 and 2
(b) 3 only
&

¢/ 1 and 3

(d) 2 only

[P.T.O.
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ufede—3
e % Uy UH wed 9d) e 98 § 7 A afl @
s ardufiell & oma B T AR W9, S PR
ar ST ¥ FEf Sl S wE T qEed I 9% %
g A T o B, @ A wea g8 A€ wwg a6

T8 ke uifEfis 7 W T R R e w@

yunelt Fmfor %, S A oagfd J Abafs % waw
#9 Fr aiief ol 6 gmrei o el A @ |

3. 3w ufess @ fTafafes # & wW-@
waifies aehana iR faawmgul s e
S T 87 . '
(@) THE GRE % fd Al wE e
gyl 1 wefira foman st =R

(b) S yonferdt % fmfor = sl
o s =R e e wifigfea TR
ST =R |

(c) STsfteEt F S % g HWid & €9 8 F
s1fereh yefera s =gy

(@ & gl Tryges 7E B =nfeg anfh
5% TN SR SAf-STEIT B T
T |

uiede—a

TR faw foll # & o TeeEgl g © wal
fafam, 3t 3@ Moem ¢ 6 e 7 ¥ sl
fofa ) 3 He e o) Fore wifead g1 oe A
wirer A i aern % fog afen €) end @
Sifen-w gl § faw % g st 9w w@
weu wEw % ufa abmfed @1 e fEm % e
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T 9 VR @ T &, TAR TR HAT Hed @ W
£, TR 9% Rarferd A v &, TN 98 YO A B
A &, T P s @ iR e e g g
FfEl o it T 8 HehaT €1 9L BH I8 W
e 78 o gea f6 3 weft =y gead s st wft
w9 ufed B9 % fog daAr 4di ) W ST § R
fam ¥ A wefl = WEY O WY g 1 e

4, T St B HH-91 U IRERE % @S R
A TR w) A¥ wU /R [AfZT war g7

(@ & o o fafim TR F @efal 4 s
v a5 e e =i @
b |

(b) Af% M9 €7 FAE WA @, Al S
IBMA I HAER 9 eAfhed 6 Th
STTEYEF T B TR

© FRm @ o™, W W AN
GUR-Yeud ed/Ee B @i S
AT fTT oAU U ol iR WEER W
TF |

(d) TR STHAT =g o6 amaeh g W e
T SR~ HagH™ § |
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Passage—3

One of the biggest ironies around water is that
it comes from rivers and other wetlands. Yet it
is seen as divorced from them. While water is
used as a resource, public policy does not
always grasp that it is a part of the natin*al
ecosystem. Efforts at engineering water systems
are thus efforts at augmenting water supply
rather than strengthening the capacities of

ecological systems.

3. Which one of the following is the most
logical and rational inference that
can be made from the above passage?

{a) Rivers and other wetlands should

be protected under Ramsar

Convention.

(b) Engineering water systems should
be modernized -and  further
augmented.

(¢) Wetlands need to be reinforced as
more than just open sources of
water.

(d) Water supply should not be free of
cost so as to prevent its misuse or

overuse.

Passage—4

Asset allocation is the most important
investment decision we will ever make, and
sadly, most of us do not give that decision the
importance it deserves. We are adamant about

seeking predictability with our future. We tend

HGY-D-LKUV/B59A
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to think of investing in risky assets as
extremely volatile and value eroding. We also
dislike fluctuating returns and the loss of
control of investment. We think our money is
best left idle, unproductive but safe. There is
no asset that is risk-free. We eould lose our
jobs, our homes can lose walue, our banks
can go bankrupt, our bonds can default, the
government can collapse and companies we
chose fondly may cease to exist. But we cannot
live life assuming that all these extreme events
are waiting to happen, and all at the same time.
All Ithese extreme forms of risks we know ‘will

not manifest at the same time,

4., Which one of the following statements
best implies the suggestion given by
the author of the passage?

(a) Distribute your wealth across
different kinds of assets so that
your risks would be minimized.

(b} Risk-taking behaviour should be
a necessary component of your
personality if you want to generate
wealth,

{c) While making investments, find a
trustworthy asset management
organization which would manage

your wealth for you.

(d) You should know that investing
your money is a risky business.

[ P.T.O.
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- uftesg—s

wARd (Sflo wo) wH wha waw ¥ fa
agefiepd: Afinfad €, wlfsr 3§ wuel w1 w9l
gl % g el wiftefa @ wme T
B Fa: HN A S TeIPER e ek su
T 1, seher o wHo wgel ) adam A F wam
U T wwen S wehall afeen fafte weged @ R
a3l w1 wfifd 3§, wam § e ge
FATH SFACH 6 SATEHAT 8, AR TehRIeHH g
@l =ia Fa g Wrafiehl ) amar 3w R s
wh| 3 et & faem #, 3 sioerg aied F wm
R egEed § weeR ¥, 99 T ¥ mew %
TS H, Fary GREdT H FE-d F TE S
Y {9 N w1 3w | =, @ e 1 @)
gedl| S WRIfER % o A B smr AR e
faftm siatigha Wit von weierl & siafa @t @
AT Tk AL 3T T Fewa |

5. 39t uftene % wed #, Freififag gdfemomd

CEERIER

1. & Wi Frawes e wka
H

2. 9 Wi Femm & fasy i Ay fofg
% g <t Y wrfierd ) srawsar 2

3. W@ WeifiERl Fam % fokm 3
qrTsER=eTE Tegelt # sft wam §
@1 =Ry

4. . v yrentEh e § veAfie seafe
1 = 9 N Wi QA1 39 3 =R
Hifaai oft s <l =1 Pigen 6
YA & GUR wwen B

Swlt § ¥ wH-dl geiamond 9y §7

(@) HFA 1, 2 3R 4

(b) Had 1 3R 3

(c) Fad 2, 3 3R 4

(d 1,2, 334
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6. Frfefad & & FF-w 5o ai=de % o &)

48 ®U | safiiea wwar il

(a) Sfto THo wudl o faemme W adam Ryt
# gaehar frgia =) g e R mn 2

(b) wAF H ey uREdd weme edx
Igpen rnfaftet § S9 fefel w5
I7am g feran ST R)

(c) & SrenfrE g sfo wHo woa
fawm % fou e ) wufiea o
it 7t 21 '

(d) @ WRNFER % THRers gfom 9% @
| 7€ gEa T E)

7. PFEE

I1x5x10x15%x20x25x 30
X 35xX40x45x 50x 55x 60

% a7a ¥ foha v g7
(@ 10 (b) 12
(c) 14 (d 15

8. A7 TF Xvz ¥R sl 6 w den ¥, wwf

(X+Y+2), 3 H 7ms T R G«
(XYZ +YZX + ZXY) fovrea =t &

@ 339 () 9%

fc) 373 (d) (X+Y+2)®

9. 7M1 % p, q,rﬁl‘s%ﬂmaﬁﬂﬁﬁ‘nﬁ

deAnd &
p-2016=9+2017=r-2018=s5+2019
2 = A - g 9 yehie gen
27

(@) p (b) q

fc) r (d) s

10. uf= 371 &1 el s1ra deand = 1, 2, 3,

4 3l 5 % R, o st < g e g
TS ST Hehet B7

(@) T (b) ThH
fc) i (d) <8
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Passage—5

Although most of the Genetically Modified (GM)
crops cultivated now are genetically engineered
for a single trait, in future, crops genetically
engineered for more than one trait will be the
norm. Thus, biotechnology’s role in agriculture
and the regulation of the same cannot be
understood solely in the context of the current
generation of GM crops. Instead, there is a need
to take a comprehensive look, taking into account
various aspects, including socio-economic
impacts, so that the potential of the technology
can be harnessed while minimizing negative
impacts. Given the importance of biotechnology
in developing varieties that can help in climate
change mitigation and adaptation, not using
biotechnology as a part of the climate change
action plan cannot be an option. Domestic
regulation of biotechnology cannot be viewed in
isolation of trade policy and cbligations under

various international treaties and conventions.
»

5. With reference to the above passage, the
following assumptions have been made :
1. Biotechnology regulation is an

evolving process.

2. Participation of people is needed
in policy decisions regarding
biotechnology regulation.

3. Biotechnology regulation should
take into account socio-economic
aspects in decision-making,

4. Wider involvement of political
executive in biotechnology regulation
improves its effectiveness in dealing
with the country’s trade policies and
international obligations.

Which of the above assumptions are

valid?

{a) 1, 2 and 4 only

(b) 1 and 3 only

(¢c) 2,3 and 4 only

(d) 1,2, 3 and 4

HGY-D-LKUV/59A
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6. Which one of the following statements
best implies the crux of the passage?
(a) Precautionary principle is not given
importance in current debate on
developing GM crops.

(b) Biotechnology is not currently used
in climate change mitigation and
adaptation mechanisms.

(c) Biotechnology's role is not confined
to the current priorities of
developing GM crops.

(d) The negative impacts of
biotechnology are not properly
understood.

7. How many zeroes are there at the end of
the following product?

Ix5x10x15%20x25x% 30
X 35x40x45x 50x 55x 60

(@) 10 (b) 12
(c) 14 (d) 15
8. Let XYZ be a three-digit number, where

(X +Y + Z) is not a multiple of 3. Then
(XYZ + YZX + ZXY) is not divisible by

(a) 3 (b) 9
(c) 37 (d (X+Y+2)

9. Let p, g, r and s be natural numbers
such that
p-2016=g+2017=r-2018=5+2019

Which one of the following is the largest
natural number?

(@ p (b) q
(¢ r ' (d) s
10. How many five-digit prime numbers can

be obtained by using all the digits 1, 2,
#3, 4 and 5 without repetition of digits?

(b} One
(d) Ten

(a) Zero
(¢} Nine

[P.T.O.
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11, 3 | . 14, v g, Fes @ W w9 @ §, el W
i 5 6 Tem 1 @ yy %@ ge ol €l 5@
®+19+50+9®+01=106 o ot o 1 8 g
¥ willes ® form o7 =1 gwifan &7 T 3ifRd 98 WA WA 195 ¥ B §Y
@ = § 4 sF-d wend §7
(@) 2
@@ 5,6
(b) 3
(b) 7,8
& = (c) 9,10
e d 11, 12

B e ooy 16, et P e g o o g 1 ¢
Ua%?i %’? abab_b_bcb_dededed d

T o, St o forame A T AW R, &

(aj 0-05 %< »

fal a, b, c,d
(b) 025 %2

() a, b, d, e
() 13%<

fc) a,cc e
(d) 3252

(d) b,c, d,e

13. IEHA 14, 18, 20, 24, 80, 32, ... HIAF
e U uid U Gisedn g N
AT 1 Gk TR T TR i @ | e A
 FH-9 3rgsen A ST wEA Y

16. THT T A3BC 3R DE2F 9k 31 #i dedmd
£, el v vl 3 A 9 Tora =i =1 <l 2 |
7f2 gearatt A 15902 8, @ AR D ®

WA % S AR Y
(@) 34 @ 1
(b), 36 . b2
(c) 38 (© 3
(d) 40 (d) 4
HGY-D-LKUV/59A 8
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11. In the sum

@+ 1B+ 5P +RR+@]=10

for which digit does the symbol ® stand?
(a) 2
(b) 3
(c) 4

(d) 5

12. If you have two straight sticks of length

75 feet and 325 feet, what is the
minimum length can you measure?

(@) 0-05 foot
(b} 0-25 foot
{c) 1 foot

(d) 325 feet

13. A simple mathematical operation in each

number of the sequence 14, 18, 20, 24,
30, 32, ... results in_a sequence with
respect to prime numbers. Which one of
the following is the next number in the
sequence?

(@ 34
(b) 36
(c) .38
(d) 40

HGY-D-LKUV/59A
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14. One page is torn from a booklet whose

pages are numbered in the usual
manner starting from the first page as 1.
The sum of the numbers on the
remaining pages is 195. The torn page
contains which of the following
numbers?

(@ 5,6
(b) 7,8
) 9,10

(@ 11, 12

15. Consider the following arrangement that

has some missing letters :

abab_b_bcb_dcdeded_d

The missing letters which complete the
arrangement are

faj a, b, c, d
(b) a, b,d, e
e} a,c,c, e

(d b,c d, e

16. Let A3BC and DE2F be four-digit

-numbers where each letter represents a
different digit greater than 3. If the sum
of the numbers is 15902, then what is
the difference between the values of
Aand D?

(@ 1
“(b) 2
(c) 3
(d@ 4

[ P.T.O.
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17. < & S1 91 82 9 Ry 7w §, R Iuu

‘Q%W%

S1: 51 YBI I & g&as § el oft gy w3
q e Yt e F

S2 : W% Y8 G wH-A-F Th @i
03 :
w17 g A 100 § 37fte et §7

Freferfied # @ ®H-u1 3w wuEt ok v %
fore wet &7

(@) <FI T S1 3N S2 We H FW ] F
o wafy ¥ foeg 3 @ s%en s1 3k T
Bl 37hal S2 ¥ 1 IW < % oy vl
2l

(b) HES S1 W &l IW 3 F g yafy 3

(c) S1 3R S2 THHY TH Fl I 3 %
vt T '

(d) IFHET S2 W I I 23 F forg valy R

18. F=fefea afes v fomr Hifsw :

st W wmew | R H wem
TTHIH YR
wigiear 9 8
| WEH 8 7
T AL AR 8-8 x
9k TROft H x A A 18D
() 7-8
(b) 76
¢ 74
@ 72
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19. @& gfER i § fifedt + 3: ww=i p, Q, R,

S, T3t U o ey iR <7 nfgemd &) 33
3 foenfea S ofk & sfveRa W@ di U, P
G R AR Q R W R T aRERa
gy § ¥R S g R fefufaa @
HI-41 wEl 87

(@ R, U 92

(b) R, S T B

(c) S afaEa R

(d) 39w T B A

20. afs foret fomdly o & 12 st ) R R, @

Fafafea 3 @ @F-w wd &7

(@) 15 Jems # Waar ¢ afe o v aifered
Bl

R e
T2 B

() 12 Jeg ®1 WEn ¢ 3 od v sAftad
2

(d) 12 gow = TER 7 2 7R o w
ftEy B
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17. Two Statements S1 and S2 are given

below followed by a Question :

S1 : There are not more than two figures
on any page of a 51-page book.

S2 : There is at least one figure on every
page.

Question :
Are there more than 100 figures in
that book?

Which one of the following is correct in

respect of the above Statements and the
Question?

(a) Both S1 and S2 are sufficient to
answer the Question, but neither
51 alone nor S2 alone is sufficient
to answer the Question.

(b) S1 alone is sufficient to answer the
Question,

(c) S1 and S2 together are not
sufficient to answer the Question.

»

(d) S2 alone is sufficient to answer the
Question.

18. Consider the following data :

Average | Average
marks in | marks in
English Hindi
Girls 9 8
Boys 8 7
Overall average marks 8-8 X

www.jkchrome.com
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19. A family of two generations consisting of

six members P, Q, R, S, T and U has
three males and three females. There
are two married couples and two
unmarried siblings. U is P’s daughter
and Q is R’s mother-in-law. 7 is an
unmarried male and S is a male. Which
one of the following is correct?

(a) R is U’s husband.

(b) R is S’s wife.

(c) S is unmarried.

(d) None of the above

20. Ifin a particular year 12th January is a

Sunday, then which one of the following
is correct?

fa) 15th July is a Sunday if the year is
a leap year.

(b) 15th July is a Sunday if the year is

not a leap year.
What is the value of x in the above

table?

(c) 12th July is a Sunday if the year is
(@) 78 _ -

‘ a leap year.
(b) 76
“A'% (d) 12th July is not a Sunday if the
(d) 72 year is a leap year.

HGY-D-LKUV/59A 11 [[PT.0.
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Directions for the following 7 (seven) items :

Read the following five passages and answer
the items that follow. Your answers to these

items should be based on the passages only.

Passage—1

Private investment in general is volatile. Foreign
private investment is more volatile because the
available investment avenues are significantly
greater (i.e., the entire world). Therefore, the
responsibility of providing employment cannot
be left to Foreign Direct Investment (FDI). The
current FDI inflows are volatile over time and,
across sectors and regions, which is a
necessary consequence of their search for the
highest returns. The adverse consequences are
unstable employment and an accentuation of
income and regional inequalities. A probable
positive consequence of foreign investment is
the inflow of new technology and its subsequent
diffusion. However, the technology diffusion is
not at all certain because the existing state of
physical and human capital in India may prove

inadequate for the diffusion.

21. With reference to the above passage, the
following assumptions have been made :

1. Relying on foreign investment in
the long run is not an economically
sound policy.

HGY-D-LKUV/59A
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2. Policies must be undertaken to
reduce volatility in foreign private

investment.

3. Policies must be undertaken to

strengthen domestic private

- investment,

4. Public investment should be given
priority over private investment.

5. Substantial public investment in
education and health should be
undertaken.

Which of the above assumptions is/are
valid?

(@) 1, 2 and 4
(b) 1, 3 and 5
feg 2,4 and 5

[d} 3 only
Passage—2

Many opportunities to harmess the highly
skewed, seasonal and spatial distribution of
monsoon flows, which occur in a four-month
period from June to September annually, have
béen lost. Since these few months account for
most of the rainfall and consequent freshwater
availability, the need for holding rainwater in
reservoirs, for subsequently releasing it for use
over tl:;e year, is a necessity nobody can afford
to overlook. Climate change will continue to
affect weather conditions and create water

shortages and excesses. While millions suffer

[ P.T.O.
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from droughts and floods, waters in the
country’s many rivers flow unutilized, and are

discharged into the sea every vear.

22. With reference to the above passage,

which of the following could be the most

rational and practical implications
for India?

1. Inter-linking of rivers should be
undertaken.

2. A network of dams: and canals
should be built across the country
for proper distribution of water.

3. Farmers should be provided easy
loans for digging borewells.

4, Usage of water for agriculture
should be regulated by law. g

5. Distribution of river water among
regions should be regulated by the
Union Government,

Select the correct answer using the code
given below.

fa) 1 and 2
(b) 2, 4 and 5
() 1, 3 and 4

(d) 2,3 and 5

Passage—3

People will invest in education whenever they
are granted the economic freedom to fully enjoy
its benefits. Again, this is for the obvious reason
that the return on education increases as the
level of economic freedom rises. When people,
thanks to lower tax rates, are allowed to retain
most of the higher income that they gain from
each incremental level of education, it makes
eminent sense to invest in education. On the

HGY-D-LKUV/59A
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other hand, when the government decides to
tax the higher income of educated individuals
at even higher rates, it makes very little sense
to invest in educating oneself further. The same
incentives apply to parents who decide on
whether to invest in their children’s education.

23. With reference to the above passage, the
following assumptions have been made :

1. Lower tax rates in a country
invariably translate into greater
investments in higher education.

2. Investment in the education of
children ensures their economic
freedom.

3. Economic freedom has a positive
impaet on building up human
capital.

Which of the above assumptions is/are
valid?

(@) 1 only
(b) 2 only
{c) 3 only
(d 1,2 and 3

Passage—4

Our urban bodies cannot possibly ensure
sustainable delivery of water in our cities
unless financing mechanisms are put in place.
Water delivery requires heavy investment in
collecting it from a natural source, treating it
to make it potable, and laying a distribution
network of pipes for delivery to the users. It also
requi{'es investments in sewerage infrastructure
and sewage treatment plants so that the sewers
can carry the wastewater to these plants to
ensure that no untreated sewage is discharged

[ P.T.O.
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back into natural water bodies. If our cities
were rich enough to meet the entire cost, water
could be delivered free. They are not.

24, What is the most logical and crucial
message conveyed by the passage?
(a) Urban local bodies must recover
costs through user charges. .
Urban local bodies are not efficient

enough to meet the water
requirements of our cities.

(b)

Water shortage in our cities is a
perennial problem that cannot be
solved.

(c)

In view of the water crisis in our
cities, there is an urgent need to
limit the population of cities by
adopting an upper limit of
population size,

(@)

25. With reference to the above passage, the
following assumptions have been made :

1. Rich cities only can ensure
sustainable delivery of water.

2. Sustainable delivery< of water .in
cities means much more than
supplying water to households.

Which of the above assumptions is/are

valid?
(a) 1 only
(b) 2 only

(c) Both 1.and 2
' (d) Neither"1 nor 2

Passage—5

In India, agriculture still engages about half of
its workforce, and about 85 per cent of its farms
are small and marginal. Compared to China
and Vietnam, which have experienced fast
structural and rural transformation, India’s

HGY-D-LKUV/59A
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story is of slow transformation. As a result,
poverty reduction in India was at a much slower
pace during 1988-2014, compared to China
and Vietnam. India’s poverty reduction was
slow during 1988-2005, but during 2005-2012,
it accelerated dramatically—almost three times
faster than during the earlier period. What did
India do during this period? Research reveals
that the relative price scenario changed
significantly (by more than 50%) in favour of
agriculture in the wake of rising global prices.
This boosted private investments in agriculture
by more than 50%. As a result, agri-GDP
growth touched 4:1% during 2007-2012 as
against 24% during 2002-2007. The net
surplus of agri-trade touched $25 billion in
2013-2014; real farm wages rose by 7% per
annum. All this led to unprecedented fall in

poverty.

26. With reference to the above passage, the
following assumptions have been made :

1. Structural and rural transforma-
tion is impossible when farms are
mainly small and marginal.

2. A good price incentive can trigger
investments in agriculture.

3. India needs to build value chains
for high-value agri-products like
livestock and horticulture.

4. Higher global prices of agricultural
commodities are essential for
India’s poverty reduction.

Which of the above assumptions are
valid?

(a)
(b) 2 and 4

1 and 3

{c) 2 and 3
(d) 3 and 4

[ P.T.O.
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27. Which one of the following statements 29, Two Statements S1 and S2 are given

best reflects the critical message of
the passage?

(@) India should create large-scale
off-farm rural employment to
reduce poverty in the near future.

(b) India should create a large number
of farmer producer companies.

(c) Private investment in agriculture
should be given priority over public
investment.

(d) Inclusive agricultural growth is
key to reduce poverty in the near
future.

28. Two Statements S1 and S2 are given

below with regard to four numbers
P, O, R and S followed by a Question :

S1: R is greater than P as well as Q.

S2 : S is not the largest one. "

Question :

Among four numbers P, Q, Rand S,
which one is the largest?

Which one of the following is correct in
respect of the above Statements and the
Question?

{a) S1 alone is sufficient to answer the
Question.

(b) S2 alone is sufficient to answer the
Question.

{c) S1 and S2 together are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

below followed by a Question :
S1 :n is a prime number.

S2 : n leaves a remainder of 1 when
divided by 4.

Question :
If n is a unique natural number
between 10 and 20, then what is n?

Which one of the following is correct in

respect of the above Statements and the

Question?

(@) S1 alone is sufficient to answer the
Question.

(b) S2 alone is sufficient to answer the
Question.

(c) S1 and S2 together are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

(d) S1 and 82 ‘together are not
sufficient to answer the Question.

30. Two Statements S1 and S2 are given

below with regard to two numbers
followed by a Question :

S1: Their product is 21.

82 : Their sum is 10.

Question :

What are the two numbers?
Which one of the following is correct in
respect of the above Statements and the
Question? _

(a) S1 alone is sufficient to answer the

Question.

(b) S2 alone is sufficient to answer the

Question.

{c) S1 and S2 together are sufficient to
answer the Question, but neither

S1 alone nor S2 alone is sufficient
to answer the Question.

(d) S1. and S2
sufficient to answer the Question.

together are mnot ¢(d) S1 and S2 together are not
sufficient to answer the Question.
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31. A man walks down the backside of his 33. Two Statements are given followed by two
house straight 25 metres, then turns to Conclusions :
the right and walks 50 metres agal.n; T
then he turns towards left and again
walks 25 metres. If his house faces to All cats are dogs.
the East, what is his direction from the All cats are black.

starting point? )
Conclusion-I :

(a)j South-East All dogs are black.

(b) South-West Conclusion-II :

Some dogs are not black.
{c) North-East . .
Which of the above Conclusions

logically  follows/follow  from  the
two given Statements, ~disregarding
commonly known facts?

(d) North-West

32. Two Stat t iven followed by t .
o Statements are given followed by two (a) Only Conchigimy-3

Conclusions :

Statements : (b) Only Conclusion-II
All numbers are divisible by 2. (c) Neither Conclusion-I nor
All numbers are divisible by 3. " Conclusion-II

Conclysion-] : (d) Both Conclusion-1I and
All numbers are divisible by 6. Conclusion-II

Conclusion-II :
All numbers are divisible by 4. 34. Consider the following sequence of

numbers :
Which of the above Conclusions
logically follows/follow from the two 51473985726315
863852243496

given Statements?

How many odd numbers are followed by

(@) Only Conclusion-I the odd number in the above sequence?
(b} Only Conclusion-II (@ 5
(c) Neither Conclusion-1 nor (b) 6
Conclusion-II
(c) 7
(d) Both Conclusion-1 and 5
Conclusion-II (d) 8
HGY-D-LKUV/59A 21 [ P.T.O.
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35. A is 16th from the left end in a row of

boys and V is 18th from the right end.
G is 11th from A towards the right and
3rd from V towards the right end. How
many boys are there in the row?

(a) 40
(b) 41
(c) 42

(d) Cannot be determined due to
insufficient data

36. Three Statements S1, S2 and S3 are

given below followed by a Question :

S1 : Cis younger than D, but older than
A and B.

S2 : D is the oldest.
S3 : A is older than B.

Question :
Who among A, B, C and D is the
youngest? »

Which one of the following is correct in
respect of the above Statements and the
Question?

(a) S1 alone is sufficient to answer the
Question.

(b) S1 and S2 together are sufficient to
answer the Question.

fc) S2 and S3 together are sufficient to
answer the Question.

(d) S1 and S3 together are sufficient to
answer the Question.

37. How many integers are there between

1 and 100 which have 4 as a digit but
are not divisible by 4?

(@) 5
(b) 11
(c). 12
(d 13

HGY-D-LKUV/59A
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38. Let x, y be the volumes; m, n be the

masses of two metallic cubes P and Q
respectively. Each side of Qis two times
that of P and mass of Qis two times that
of P. Let u=m/x and v=n/y Which
one of the following is correct?

(@ u=4v
(b) u=2v
(¢ v=u
(d) v=4u

39. The average age of a teacher and three

students is 20 years. If all the three
students are of same age and the
difference between the age of the
teacher and each student is 20 years,
then what is the age of the teacher? -

(a) 25 years
(b) 30 years
{cj 35 years

(d} 45 years

40. A person bought a car and sold it for

& 3,00,000. If he incurred a loss of
20%, then how much did he spend to
buy the car?

{a) ¥ 3,60,000

(b) ¥ 3,65,000

“e) ¥ 3,70,000

(d) ¥ 3,75,000

[ P.T.O.
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Freafefea 6 (9:) vt & Rro frsw -

M fow 1 uter ofedst 1 oy ok el % 9
T AT Wi SR AR 5 il ¥ ey ww
hefel T TR=ddl W smeia A =y

ufede—1

Wi e 169 vt F v § weeh an e
SRR |/ 371 e g @, Rl 7 il 194
Wﬁ%ﬁﬁwa‘éaﬂarﬁg‘ﬁaﬁf@ﬂwﬁﬁ
= Bael B R g @ ) smde-ard
¥ & T gla: 7w ww ¥ w9 o w ik @
TR Y g w9 Y w0 O gEaR e,
a@ﬁmﬁaﬁ,ﬁmﬁm@mﬁwaﬁwaﬁm
"R TR (Phytophthora infestans)’ 3
T Tet W1 3 Frfaar § sFgn aw 1845 T 3
HIaF e % Sfisoelt 3w 3w i e sy 9w
feam s a9 uy A M 1 T vl TR )
| g wRomTEE ¢ s Y 5 fifve anl
! AR T a1 oot »

41. Fefafas § § #n-w woq wiede ¥ mifw
TRV T GIAH NG Far &7

(@) Frdl fadeh W freh dw il wite
W%%EW%W@H@@XW
T 399w BT =Ry

el 0 % wur @ & wy F o
e ATC W, U B 1 O
< Fedl|

TR % FF s G w2 A i
e § i o = Qe 7 w1 g

(b)

()

Teaet Friht @ g W sk B gy
T8 Bl

(d)
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ieRe-—2

i gl A Rl B arelt S srferawenat
AR, P ot T o O g rfires ot st 5
8128 ofl & # el v s W eifg w3
M TR 21 A, o wteat s T @ ou
wﬁmél-sﬁﬁimaa‘iﬁﬁaﬁmrm&aﬁfﬁﬁ
1R T 21 3 T2 S ST @ W, el s
@waﬁﬁaﬁmmﬁ%ﬁﬁwﬂwﬁtmﬁm
@l ARt % wafe wmn d w e ¥ @ g A
815 A =0 Y F w44 RieE 2 aiERe
1 560 IR o § el i awe e s
FAA A HEE AR ¥ I erdreta. 9l e
T T qHRET ¥ T G- o 2 3

42. ITYH =R F el &, Pfufeg § @
F-U/8 waihe gheTT v smEEhe
fAfgaref & /&7

1. (M@ 6l e e gl wy e
TR ERT A1 o ST wifg |

2. ifcrriedi 1 faare w@ wam wf frafig
F % R denfa s =il

3. w%gﬁammﬁwwﬁ%@
A3 % WiewifEd s 9k

4. wft & f gwhia W w@ @ sgw
Teod glen 6 egfd ghifig we
e

5, mf‘wftq‘iaﬁwﬁu’fﬁﬂﬁwmgﬁr&m
HT =R

:ﬂ%ﬁQW@Wmaﬂaﬁmgﬁm
() i,z,ssfrm
(b) 2,3,43R5
s (o) e 1
(d) a3 3R 5
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Directions for the following 6 (six) items :

Read the following five passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

Spanish ships in the late 16th century first
brought the potato tuber from South America to
Europe whereby in the early 19th century, it
had become a reliable backup to cereal crops,
particularly in the cold, rain-soaked soils of
Ireland. The Irish were soon almost wholly
dependent on the potato as their staple food.
And they were planting primarily one
prodigious variety, the ‘Lumper’ potato, whose
genetic frailty would be cruelly exposed by the
fungus ‘Phytophthora infestans’. In 1845, spores
of the deadly fungus began spreading across
the country, destroying nearly all the Lumpers
in its path. The resulting famine killed or
displaced millions. i

41. Which one of the following statements
best reflects the critical message of
the passage?

(a) For introducing any foreign plant
into a country, the soil and climate
conditions of that country should
be suitable.

As a staple food of a country, tuber
crops like potato cannot replace
cereal crops.

(b)

Some of the fungal infections of
plants cannot be prevented or
stopped from spreading across
large areas.

(c)

(d) Relying on a homogeneous food

source is not desirable.

HGY-D-LKUV/59A
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Passage—2

India is at once among the fastest growing
global economies and home to the largest
number of malnourished children in the world.
There are regions where malnutrition is not
the exception but the norm. And across the
country, malnutrition is the cause of death for
roughly half the 1-3 million children who die
before their fifth birthday each year. Even those
children who survive suffer permanently from
the damage that has already been done to
their bodies and minds from not getting enough
of the right foods and nutrients. Around
44 million children under 5 are stunted. That
makes it harder for them to learn in school and
subsequently earn a living as adults. Their
lifetime earnings potential is almost a quarter
less than that of their healthy peers,

42. With reference to the above passage,
which of the following is/are the most
rational and practical implication/
implications?

1. India’s Public Distribution System
should be monitored by the Union
Government.

2. Girls should be encouraged to
delay marriage and first pregnancy.
3. Mothers should be

to breastfeed their
immediately after birth.

encouraged
children

4. The supply of safe drinking water
and proper sanitation facilities to all
should be ensured.

5. Authorities should ensure
vaccination as prescribed.
Select the correct answer using the code

given below.

the

(@) 1,2, 3 and 4

(b) 2, 3,4 and 5
&

(e} 1 only

(d) 3 and S5 only

[ P.T.0.
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gf=de—3

zered < weifd T SR 167 @I s, ehemon 3R
TR W H UH ITH T & SR Haa: qegel wid
INC ST Gepd A GG B IR Searashal (ST
2000 fe Uto/gadR) Iucsy yefeEl A e #
wreEqyl w9 ¥ fiw el o IfF e emer A
TSI B, IEeh wherd el A ot Gwe Ef wd I
A % I FDI, S IThel 9 AT T YN Y1
+ fau %@ B, & T v oeds fomigar @90 g
eyl g% @ f6 & W YA, UM F PINE *
fapdia, =0 ST @ o 3@ ga1 § aeE Siar S w2
U & g H 9l 98 ¢ o Aaad) (silica) S wE
afees Bt & S oTEET ¥ 3E emued € g S
3R T HATH F2Ts o a8 ot FIF H T T Y3
B gwel § #ed & fau Faw PR wwm #l
Hawgwdl gl @ 58 a| sar s what @ @R W
Fgd oSt A vl @ 9 21 A% Y uW ¥ 9 g

gaell & w1y e B e smarft & frewen 4 g @

SIIAT ST |ehdT| SEfcl, Y WIMRUG: $@ Sl s
A TR A4 2

43, Fafafas 3 9 =9-0 W walfds adhgra
fread % <t 3wie ot ¥ TEE w1 v
87

1. 9H $l gedl § ST I O
31 31fe geft

2. ToEd ITHI, 9N Il gEa § wm
TGV IeqH T B

3. TTRA % 3N L FER el 6l e §
YR A o g fen s wehen B

4. I T R B F ded A, um F
qeTel Sl =g ITNfirar et 1

5. weiigd Wdl g8 i &l WqE Fh & |
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A= fa g 2 w7 v R wd s gl
(@) 2,335
(b) 1,43M5
(c) wHaa 2 3N 3
(d) Fae 1 3R 4

ufesg—a4

ARA H, TR A g B somvEl 3 siftemae s@
R 0 Al A w €, Rl % adE o R
e e Ieured o o sefvT & e s ) AR Ry
M % WY Sy § W ) G FfdE w R e
W T AR w9 whed wen ¥ Y el ¥
Fifh S AEYT F I B € Sl 99l 9ol %
e % fu se & 9w sm e s b S
S| wg TR AEE % e Be ¥ Tl @
Sl § Afs-H-1fUs To g9 W o €, Rl
it Torgq 3eare wd = gfifda < s e

44. 39w ui=de & wed ¥, frafoafea geemom

TR TS ¢

1. SemerEl # arfenan el d9ae B 9
it sifgm, sewifs sfesmel «w ead
areferes Tl & @ )

2. Wl i VUGVl &HAT I WY Fg *F 74
YT SRA QO e T TR s
e

3. WRa W @ frear & forg sfet 6t syfiem
) H B Al T 8

St H ¥ SH-W g@eren/ghdurend Sy

/&7

(@ HIA 1 3R 2

é(b) A 2

(c) Had 3

(d 1,233
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Passage—3

The pulse variety Pusa Arhar 16’ has the
potential to be grown in the paddy-growing
regions of Punjab, Haryana and Uttar Pradesh
and eventually in all of India. Its yield (about
2000 kg/hectare) will be significantly greater
than those of the existing varieties and because
its size will be uniform, it will be amenable to
mechanical harvesting, an attractive feature for
farmers in northern India who currently use
this technology for paddy. Most important,
Arhar straw, unlike paddy straw, is green and
can be ploughed back into the soil. In paddy
straw, the problem is the high silica content,
which does not allow for easy decomposition.
In the case of Arhar, the farmer, even after
combine harvesting, just needs to run a
rotovator to cut the leftover straw into pieces,
which can be ploughed back and will
decompose very fast. All this is difficult with
leftover paddy stalks that cannot be easily
salvaged or ploughed back. Farmers, therefore,
choose the easiest option of simply burning jt.

43. Which of the following are the most
rational inferences that can be made
from the passage?

1. Farmers’ income will be higher with
pulse cultivation than with paddy

cultivation.

2. Pulse cultivation causes - less
pollution as compared to paddy
cultivation.

3. Pulse straw can be used to improve
soil quality.

4. In the context of northern Indian
agriculture, paddy straw has no
usefulness.

5.. Mechanized agriculture is the main
cause for stubble burning.

HGY-D-LKUV/59A
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Select the correct answer using the code
given below.

(@) 2,3 and S
(p) 1,4 and 5
(c]
(c)

2 and 3 only
1 and 4 only

Passage—4

In India, authorities always look to store the
maximum amount of water in reservoirs during
the monsoon season, which is then used for
irrigation and generation of electricity during
the summer months. It is an internationally
accepted practice that the water level of a
reservoir should be kept below a certain level
before the onset of monsoon season. This is so
that when monsoon rains come, there is space
to store the excess rainwater and also so that
water can be released in a regulated manner.
But the authorities store the maximum amount
of water in réservoirs even before the close of
the monsoon, only to ensure greater electricity
generation and irrigation.

44. With reference to the above passage, the
following assumptions have been made :
1. High risks involved in holding
maximum water in reservoirs are
due to our over-dependence on
hydropower projects.
2. Storage capacity of dams should
not be fully used before or during
Mmonsoon Seasor.

3. Role of dams in flood control is
underestimated in India.
Which of the above assumptions is/are

valid?
(a) 1 and 2 only
(b) 2 only
{c) 3 only
° (d 1,2and 3

[P.T.O.
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TRewe—S5 A o T e w1 v =R Ed FE g
YR H el Sefiewr &1 Wey sifiemat SR 6 (@ ¥@1
AT wHenA § 9 g a1 A 5 swa el '
SftrTall & e St R ¥ s ) o, (b) ¥ 2
el T watE Al A off St 9w d egya |4 g o Tl
T e SR % yRw @ Us-fade 9fs, g
el 3k gt s wEel % wg F 3wl §) s (d) T 1, 7€ 2

w ofi a9t F 9 ¥, IR W Hee sidoreRdn % ungE

@2 T F; TN, s, senie @ e S A ‘ :
46. Iw =g & wed #, Fefafen gHaromd

% Wl ufigwd i SereRe © Ak i gig @l aTg T T R
TG R 38wl fore # wuiaRa w0 R, 9§ T T ety w——
et w1 e 89 € =) U el gifed 0 6 eEvEEal @
ifer TSP =1 S v A gee R W
5 HE AT T gfe I B AT Wl W
cal
2. e e A geq enfds gfg rft
45. 30 dfesg ¥ fTafafes & @ =F-w/@ e e T T e e e
| watfi wewma s aifes v e/ H G
feTel S wear/uehd 2/a ¢ IEE A A PH-H qhemen/ghuront. 3y
?/37
1. T <t qamr § a8 sfEd @ & =
) e it qx Gl fomar sy o fa) S 1
39 gdfafa feran s
5 (b) FHaA 2
2. AR A A9 wHlE &El d 9 ) A () 1% 23
EIR EICIRELICE RER T I A s D _
ECNRE R (@ Fdq1,T82
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Passage—5 Select the correct answer using the code
given below.

[Economic liberalization in India was shaped

largely by the economic problems of the (@ 1 only
government than by the economic priorities

of the people or by the long-term development () Zomy
objectives. Thus, there were limitations in tof Both 1 and 2
conception and design which have been

subsequently validated by experience. Jobless (d) .Neither 1 nor 2

growth, persistent poverty and rising inequality

have mounted as problems since economic

liberalization began. And all these years later, 46. With reference to the above passage, the
four quiet crises confront the economys; following assumptions have been made :

iculture, infrastructure, industrialization )
e = 1. India’s economy needs to be greatly

and education as constraints on the country’s integrated with global economy so
future prospects. These problems must be as to create large number of jobs
resolved if economic growth has to be sustained and to sustain its growth

and transformed into meaningful devclopmeﬁt. T tum.

2. Economic liberalization would

cause large economic growth which

45, Which of the following is/are the most would reduce poverty and create
rational and logical inferencef . sufficient employment in the long
inferences that can be made from the run.
passage?

Which of the above assumptions is/are
valid?
1. It is essential to rethink and
redefine the economic role of the
(a) 1 only
State in the quest for development.
(b) 2 only
2. India has not made effective
implementation of its policies in () Both 1 and 2
social sectors nor made sufficient &
investments in them. (d) Neither 1 nor 2
HGY-D-LKUV/59A 29 [ P.T.O.
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1. 10% ¥R 20% ! % gz v agwia
10% &1 X 1 T

2. 20% 3R 10% 1 HEE gz R g

10% HaT # &1 P

3. WEd 10% ¥ W F YN GRA
20% 3R 10% i sHieh w2

Frfafaa # @ #-w wd 27

(@) TEF F T Fae 1 ge@ or=m1 fywmey
Bl

(b) UIEH F I FaA 2 w9 7=a] Fey
B

50. = % S-f ued 5 g 27

(c) TEH % U Fae 3 GeQ or=m] Riseq
i

(@ uedh & o ooft Reer wam w0 @ o

3= Tl

48. A9 Z @& af 1 ¥ 26 9% FAW: FAFE
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T T8 &1 e GHI = 1578 3K DEF = 912
&, @ .ABC Torush ser 27

(o) 492
(b) 468
{c) 262

(d) 246

30

www.jkchrome.com

www.jkchrome.com

49, B QU Ug @ w0 27

ACPQ : BESU :: MNGI : @

a) NPJL
(b) NOJM
{c) NPIL %
(d). NPIM :

o ()
1
() ['_;]_2 3
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47. A shop owner offers the following
discount options on an article to a
customer :

1.  Successive discounts of 10% and
20%, and then pay a service tax
of 10%

2.  Successive discounts of 20% and
10%, and then pay a service tax
of 10%

3. Pay a service tax of 10% first, then
successive discounts of 20% and
10%

Which one of the following is correct?

(@) 1 only is the best option for the
customer,

(b) 2 only is the best option for the
customer.

(c) 3 only is the best option for the
customer.

(d) All the options are equally good for
the customer.

48. The letters from A to Z are numbered
from 1 to 26 respectively. If GHI = 1578
and DEF = 912, then what js ABC
equal to?

(a) 492
(b) 468
(c) 262

(d) 246

HGY-D-LKUV/59A
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What is the missing term @ in the

following?

ACPQ : BESU :: MNGI - @

(@ NPJL

(b) NOJIM

(c) NPIL

(d) NPJIM

What is the largest number among the

following?

o )

www.jkchrome.com
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51, wiftman st x w1 gefl, el 6 32 m 3R 53. 39d eyHed frequ 1-272727... Tads wAE

82 m, x % i Tl B 39
W il (@) 13/11
2
, (b) 14/11
& 1g » (¢ 127/99
(c) 121‘_ m (d) 137/99
(@ 13 m | 54. = 3 6 T 9 e FE-EE RS,
4, 5 3K 6 § Ffn 8 W T0® T2 9
wear o
52. T stfeel W fomm AT : (@) 1012
=% — — (b) 1022
1911-1921 48:1 35'5 _ (c) 1122
1921—193.1 464 363 N
1931-1941 452 31-2
1941-1951 39-9 27-4
1951-1961 417 998 55. U Vel &) I @ § 40% T R 30%
1961-1971 41-1 189 Hfeerd franfes §1 fafeg oo wfl @
1971-1981 37-1 14-8 s 1 &, AR A N g G Al
Tfen ¥ foae 7@ e & oiR B ot wleen
o D il ey A TaaE A Fd o
_Emﬁu@%mﬁmaaﬁw 1% frear afR fas 4 &7

(@) 33L%
(@) 1911-1921

(b) 34%
(b) 1941-1951

(c) 342%
(¢) 1961-1971 y ¥

(d). 1971-1981 (d) 35%
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51. What is the greatest length x such that 53. The recurring decimal representation

35 m and 8% m are integral multiples 1:272727... is equivalent to
of ¥ (@) 13/11
(@ 14 m (b) 14/11
B 13 m () 127/99
(d) 137/99
) 1;m
(@ 12 m 54. What is the least four-digit number
4

when divided by 3, 4, 5 and 6 leaves a
remainder 2 in each case?

52. Consider the following data : (@) 1012
b) 1
Year Birthrate Death rate (b 198
1911-1921 48-1 390 * (c) 1122
1921-1931 46-4 363 (d 1222
1931-1941 452 312
1941-1951 399 274 '
55. In adult population of a city, 40% men
1951-1961 41-7 22-8 and 30% women are married. What
1961-1971 _ 180 is the 'peljcentage of rr'xa_med adult
population if no man marries more than
1071-1981 371 14-8 one woman and no woman marries

more than one man; and there are no
widows and widowers?

For which period was the natural

growth rate maximum?

(@ 1911-1921
(b) 1941-1951
(c) 1961=1971

(d) 1971-1981

HGY-D-LKUV/59A
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(a) 33% %

(b) 34%

‘() 342%
(d) 35%
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56. 91d 51x27x35x 62x 75 100 Y fawrism
Toran Tt R, ) Siuwd = 87

(a) 50
(b) 25
(c) 5
@ 1

57. 2,500 H TH UM W X, Y IR Zz ¥
L:%:g%wﬁﬁm%mw%

2

AlFd o3 AR = AW kS

w7 87
(@) ¥ 300
(b) ¥ 350
(c) ¥ 400
(d) ¥ 450
58. n o b 9 & fog @ (107 +.1) 4 il &
4 2 87
(@) Fad n= 0% fag
(b) TrEl ool 5=t n o T
(c) e Torelt eI QUi n 3 T

(d) e arciferes e n & foig
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59, UH &1 A 44 W A, B 3R C ¥ 3Rk w4 A
A o el o wE B Y A Pl W
WE C ¥ WFhka e s R, @ Fa %
fernfilat & ofrea s =1 = E?

(@) % sig S

(b) TG T S

(c) T8 TE @

(d) SN St F wr wE Fod T
TepreT T gehat 81

60. Teqal ¥ 50, €100, €200, ¥500 3R

£2,000 & ¥, TH GAF § FH-Y-FA 9
Tegar o g, T fafim geofiel a9
1 Hehd! 67

(@) 16

(b) 15

(d 10
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56, What is the remainder when 59. In a class, there are three groups A, B
51x27 x35% 62 x 75is divided by 100? and C. If one student from group A and

two students from group B are shifted

to group C, then what happens to the

50
(@ average weight of the students of the
class?
(b) 25
¢} 5 (@) It increases.
(@ 1

(b) It decreases.

57. A sum of ¥ 2,500 is distributed among :
X, Y and Z in the ratio -é— : %: % What is (c) It remains the same.

the difference between the maximum
share and the minimum share?

¥ (d)  No conclusion can be drawn due to
fa) ¥ 300 insufficient data.
(b) ¥ 350
(cj €400 60. How many different sums can be formed
with the denominations & 50, € 100,
¥ 200, T 500 d ¥2,000 taking at
(d) €450 00 and ¢ ing
least three denominations at a time?
58. For what value of n, the sum of digits in (@) 16

the number (10" +1) is 2?

(a) For n=0 only (b) 15

(b) . For any whole number n

(c) 14
(c)  For any positive integer n only
(d) For any real number n {d) 10
HGY-D-LKUV/59A 35 [ P.T.O.
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FreafaRew 6 (9:) it & fomg fdw -

4= fer T ute ufedel = ufgu sin ui=st & 69
M I JETEN F IR AR 5 g F qgF IW
Fae g1 R=sel | A e B9 =iy

gfede—1

STeifes dF ) fem 9t 9@ oo § g Ry @
™ R g e i faar w5 fawg ® =it o owm
TR FEw 9 gefiian @ % o sieves ¥ g
% Ig/M foa 25 auf % 1yl gurt # fifka §)1 1991
% GURI % I90A <! 6 T e foem ) weraen 6
s e IRadd g =g on) oS oiR 5 Al
weIR ferawyr § S ) et w0 @ I ewmwd
T Y SigEia B =Ry o 79 A A W T =
Tha Hifch I8 &g B hl w1S IFd Haer T& R
FER, T § @ 9 Sl B PR sifre §of 6
ST B &

61, 3% ufdk ¥ fefifaa d A www
waifis aifed i aehana ey T
T Gehell &7
(@) WA sifehT sgeeean 3w 6 il o
¥ ez e Fa | R
1991 ® wRY fhyam enfdfe guwt 3
Afae % MG wWH TH GuUR #
URET Tdl it 7|
9 H et il eEmad ¥ fived % foe
e wisean T 21
AeNfiE et § e Fom =1 Mo
1 3G VX % o 01 F IR Fofar =
U 3=l famey Bl

(b)

(c)

(d)

qRedg—2
TRA & °HR ST o e W R gn weft 98 et
i 3 6 o o ol ww e % forg iRt et =
AT AT BN WG FP AR wewed g
IMTEA-WR I WH FA % fore anft of em @A Tl
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T efloral Wl ¥ TR W@ E YRA R 2030 9
Iees I 33 TR FH F H 3T @6 Y g8 ®9 D
fteg & aen 39 feen & swa T w snaiia siferawen
I U Wk ewred o @ ofR el @ 8§ il
frawr sft form 31 Wg = wE, W w ¥ wE
i 21l qeh daR T ], Tl st F il fEw
w0 7§ feefra @

62. 3w ui=de ¥ Fefafes 4 ¥ Fw-w
gaiiaw e @ik ashan et S
ST Gl 27 '
(a) G F 33% TR B R H
YiiSEeT ) WIH 1 T B

(b) SRd W Ay dareE § PR = %
TSI T 1 AT HET =1

(c) el GHrEE ) g Sed dR A
AT TG B "Rl B

(d) ¥Ra = wHlis g A @ 7 e
T HET TR

63. ITw wieds % wed #, FefiRan gdumomd
oI T ¢

1. TR T Y a0 W o e |

i wemEar el ? S fee i %
fore dam i | wehedt)

2. 2030 T IG9T H 33% ! WRA
# witegar To-snuiEa erdeyern W
Tl v
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(a) Had 1

(b) FaA 2
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Directions for the following 6 (six) items :

Read the following five passages and answer
the items that follow. Your answers to these

items should be based on the passages only.

Passage—1

Bank credit to the industrial sector has started
shrinking. Its decline has been a serious
concern as credit growth is essential to revive
investment. The problem’s origins lie in the
incomplete reforms of the last 25 years. An
institutional change that should have followed
the 1991 reforms should have been setting up
of a resolution corporation for banks. In a
market economy with booms and busts, banks
should be allowed to be set up and to fail.
Today, we cannot shut down banks because
there is no proper system to shut them down.
Weak loss-making banks continue to need more
capital.

61. Which one of the following is the mogt
logical and rational inference that
can be made from the above passage?

(a) Indian banking system is not able
to help the country in its economic
growth.

(b) Economic reforms that started in
1991 have not helped in improving
the economy to expected levels.

(¢) India lacks the institutional
mechanism to deal with the failure
of banks.

(d) Encouraging the foreign
investments _in our industrial
sector is a good alternative to this
sector’s dependence on banks for
credit,

Passage—2

India has' tremendous potential for solar
energy. (We all realize that we have to stop
burning fossil fuels to meet our energy needs.

www.jkchrome.com

But certain renewable resources are still going
through their cost curves and learning curves
to get the required amount of output. The
Indian Government has strongly committed to
its targets of reducing emissions by 33 per cent
by 2030, and towards this it has initiated a
strong push towards a gas-based economy and
has also invested heavily in renewable energy.
However, business houses are wary of investing
too heavily in renewable energy at a time when
the technology is not yet ready.

62. Which one of the following is the most
logical and rational inference that
can be made from the above passage?

(a) India’s commitment to reduce
emissions by 33% is unlikely to be
achieved.

(b) India should import gas rather
than invest in renewable resources.

(c) Getting renewable resources to
market too soon may be costly.

(d) India should put in more efforts in
the exploration of natural gas.

68. With reference to the above passage, the
following assumptions have been made :

1. Governments often provide
inefficient and costly subsidies for
technologies that may not be ready
in the near future.

2. India’s commitment of reducing
emissions by 33% by 2030 shall be
on the basis of gas-based economy.

Which of the above assumptions is/are

valid?
(a) 1 only
< (b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

www.jkchrome.com
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ufese—3
W wuEa, S99 wwiaw 4 fim ¥ S99 geee
99y 9 ¥ 9RY SHY F I3 A4V 7 gdl e @
wsifya ® forg=i ufafda B oo RS J 4 S
1 £ STk W T WERE % feg wledieh @
ST Gk A IeTeddl §6G1E S S| Wgddl SEm @
e w0 & for “anfiass FY o1 3w w9 § 9K
THhl HOHA HA @ 5 fob gl W g arell 98 Tl
yfsEan &, < 9w A F SmEAv F el g WA
IdfEddl # I R gFdl B, S TF I Uy =@
viger # g9 9 AsERV A s @A § 9e9 S R
378 TEfeh GATTAArS] § urey S w1 fawr @ gligo
T 999 B SR " S W gere w9 giafde w0
1 Toranfafy =1 gem frn s ohar ®, w0 fem wfmn
Tyt w9 Y S A S vl B

64. 30w ui=or & wed #, frmfafa ydumoné

T8 7% @ -

1. A H9eT § To UIeY ¥ gE WS %
T i Il Te B

2. SHM "ued % g g g S @ ad
w1 s WEloE vk % w0 # uiafdg
e s g & T diel o wgfam
ddl & WY FHfed 'R A gEEw
il 31

IEE A ¥ FwE-H g/ gEaremt - 3y
B/E7

(a) FFad 1

(b) a2

(c) 18R 23H

(@ 4@ 1,482

uftese—4
SEd-4 T 39 IR FEEA Ud TR S @9y 3
F % U & % wfom % wy § guga € S afFed!
3R FIS-Thig] H N 4 ¢ Thg w o var sft §
ol wdt w9 ¥ guen € s, 6 wn viom Ear @ e
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sy oW sl wewd & Wy @ se-HEg
YT WU Bl B 2R rEiitE we-sie ) A %
A A WR A Al A s R s 31 suen
GRUE B ® A @ ooaes B s REE e gen
Ul N @A ®, H=sX YR B0 € 9u we-std
e Bl

65. WG & el W, Fmfafea § ¥ FR-wr s
Ui=s8 % Wwifde TavT &1 Garaq J9or &l
87
(@) wRa A ster-Fe gemhe s ot @
-9 % To7e 3en-31em e 8|
&l WHg FEEt F um emie ywwuw
1 wEnet ¥ fued & faw gaiw deee
wE Tyl it 42 81
A R wEed # Se-fem ek
e-oe Pl d % fem % Wiy
vefiga o s =Ry
T TRl g0 39 ImiE
AA-9 YUl 1 @UE YEEH AR
el 3 T S ol & for fer #)

(b)

(c)

fa)

ufege—s5

fqum & Wm0 H, S SAWuRe Rl 9 difce
ARl & wfo smawm @ @, AgSE 25 gEWU
=t & 5 st sfrdl B staa ) @ # eik
o % AT T W AEA, TRV I THR FA A
WHA B B, WA N 9 W S W S A
30§ 98 T T9 SN H1 O WAl aren 3w, el
R, AR, TR qUT 36 9P % o1 9§l &
Hef @d gU| 98 Iwe foH wHEE & enfife stew
% el e 6 gd T i o B egsse 25
il 30 yife wd & 2fa wee aga: T iRy @ve
H HE W 7 Sme wgEr v o1 # ol em
Wieer feRl #1 oiffe @aaa & AR F IR
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Passage—3

Genome editing is different from genome
modification. Genome editing typically involves
finding the part of a plant genome that could be
changed to render it less vulnerable to disease,
or resistant to certain herbicides, or to increase
vields. Researchers use ‘molecular scissors’ to
dissect the genome and repair it, which is a
process that occurs naturally when plants are
under attack from diseases and can throw up
new mutations that enable the plant to survive
future attacks. This evolutionary process can
effectively be speeded up now that it is possible
to examine plant genomes in detail in
laboratories, and create mechanisms through
which the relevant genes can be altered very
precisely.

64. With reference to the above passage, the
following assumptions have been made :

»
1. Genome editing does not require
the transfer of genes from one plant

to another.
2. Through genome editing, the
chosen genes can be altered

precisely in a manner akin to the
natural process that helps plants to
adapt to the environmental factors.

Which of the above assumptions is/are

valid?
(a) 1 only
(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

Passage—4

Many people ‘understand the connection
between solid waste management and health in
terms of the consequences of unattended heaps
of dry garbage which become home for flies
and other vermin. However, there is another

HGY-D-LKUV/59A
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aspect that is not well-understood, that is,
what happens when unscientific solid waste
management combines with poor drainage and
dumping of untreated sewage into drains which
are meant to carry storm water during rains.
The result is choked drains which are full of
stagnant water breeding mosquitoes, resulting
in the spread of water-borne diseases.

65. In the context of India, which one of the
following statements best reflects the
critical message of the passage?

(@) In India, the drainage networks
are not separate for sewerage and
storm water.

Urban local bodies do not have
enough resources and legislative
authority to deal with the problems
of waste management.

(b)

Solid waste management should be
integrated with the maintenance of
drainage and sewerage networks.

(c)

Bad management of solid waste
and sewerage systems by our
municipalities is the reason for
drinking water shortages in our
cities.

(d)

Passage—b5

In Part III of the Constitution, which assures
people certain fundamental rights, Article 25
proclaims that “all persons are equally entitled
to freedom of conscience and the right freely to
profess, practise and propagate religion”. What
people fail to notice is that this proclamation
is prefixed with the words “subject to public
order, morality, health and to the other
provisions of this Part”, which set conditions
precedent for the legal protection of religious
practices of any community. The closing words
of this prefatory rider in Article 25 virtually
constitute a subordination clause placing other

[ P.T.O.
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auEt gadT 1 #Aftea oit @ faitEt o off gam dwem
o+ AUFR ET—ehT TRY H & AwE € a9 98 5
ag=ael § g @ & wy RTww @ R, o 9 %
T, sy el oft saf @ =t % wgg et o
& anvr W faftrdl & wam deeo & dfa 58 o)

66. 3w ufwde &1 walfdw aifde fwwd

@ Al 4 el v s T @) ol #
R @ B =l ] g A G99 S 4l el
81 fi @ fror &7 4 ffex e AR Fea
St @ 3R g9 B Y It B " 9w e @

ol B 3fom e A 59 A W W %9 B

1 T W AU T g

fa) 4:1

w1 87 (b) 5:1
(o) TS9 AT % e el ¥ e l 16:3
e | d 17 : 8
p) Gfagm § @ T aiffs wWaa 1 T
. m;:mmﬁ%. 69. T Sl s 3Gl 5091 I % 918 Ed TR

(c) Wcﬁﬂﬁ%ﬁﬁmﬁ%ﬁaﬁm\%ﬁ
& T 7 8 o

(@) T ff vEm & aifife seRv usy &
HI © gl €

67. W& DELHI' & |+l 37e’i &1 Wl *d §Q
fre Tl 5-a1eld wse (R 915 339 &

46-4 91| 6091 U} % ¥E, IFHT IHET W
2.6 g sai¢ | o =@ uiEl § s ofea
THR T o477

(@ 122

(b) 91

(c) 62

(d) 49

A 7 F) T S E, T T = D 70, wEe % §i Fhel qea A 25% R gy &

¥ WY Y B & 3R 1 |1 EHw g af
(@) 24
(b) 18
(c) 12

(d) 6
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) €50
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fundamental rights mentioned in Part III over 68. A bottle contains 20 litres of liquid A.

and above the right to religious freedom. Among
those other fundamental rights is the right to
equality before law and equal protection of
laws—assured at the outset and elaborated in
later articles to mean, inter alia, that the State
shall not deny equal protection of laws to any
person or group of persons on the basis of
religion alone.

66. What is the most logical inference from
the above passage?

(a) State shall not interfere with the
religious affairs of the citizens.

4 litres of liquid A is taken out of it and
replaced by same quantity of liguid B.
Again 4 litres of the mixture is taken
out and replaced by same quantity of
liquid B. What is the ratio of quantity of
liquid A to that of liquid B in the final
mixture?

fa) 4 :1
() 5:1
() 16:9
(d) 17 : 8

69. The average score of a.batsman after

(b) Religious freedom under the
Constitution is open to State
intervention,

>

(c) Religious freedom of the citizens

his 50th innings was 464. After 60th.
innings, his average score increases by
2-6. What'was his average score in the
last ten innings?

. (@) 122
is not covered under fundamental
rights. B) o1
(d) Religious  practices of any (c) 62
community are immune to State
67. How many different 5-letter  words (with 70. As a result of 25% hike in the price of rice

or without meaning) can be constructed
using all the letters of the word DELHI’
so that each word has to start with D
and end with I?

(a] 24
(b) 18
{c) 12
(@ 6
HGY-D-LKUV/59A 41
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per kg, a person is able to purchase 6 kg
less rice for & 1,200. What was the
original price of rice per kg?

(@) ¥ 30

(b) ¥ 40

(c) TS0

(d) €60

[ P.T.O.
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71. T AR x Tl w0t w1 20%, 8 RAt # wo Sisplash @emat % [ fha gm ¥, REd a

75.

Tl @ R g0 =ARE Y 3 o @1 25%,
6 7l & Q1 R % 31 AR 3 3 wu-wy

1 W 63 27

: (a) 3 (b) 4
FH HA 8, 9 39 B H 40% ey R # © s @ 2
T R S
(@) 6 (b) 8 76. @f fidl 2/3, 374, 4/5 3l 5/6 F 2w 3R
(c) 10 (d) 12 WaH A 5 Sie Rar sar &, @ Aefifaa §
¥ e T F W A =pan afads gme
72. T FR v km/hr & 97 91 F ©H X Y @ 2/3 ) 3/4
WH Y OF 99 RN 8, Y § X aF
fc) 4/5 (d) 5/6

2vkm/hr it 390 94 ¥, T X v
Bukm/hr &I oW 9 ¥ R AR YA X

T 3% 1> 3T 3 A Al 6.2 g T

77.
T 4vkm/hr i 3fHa w1e QG0 =G 2 '
& ot a3 fore ) S e ¥ Prrferfem 3 2 - w4 oo 27
(a) vkm/hrﬁw% (@ 2n (b) 3n
(¢) 2n+4 (d) 38n+1

(b) vﬁkam/hr%WTﬁ?ﬁ%
(c) 2v 3R 3ukm/hr % 99 @t ©

78. 9% 1 iR 9 F WR 1kg R, @ Fr
(d) 3v 3R 4vkm/hr % 6= Wl 3 . o fiicfifiet arlt 571 YR 0-1 gm d?
73. Ffafad wut ® fa=r Hift a\ ol
1. ol g & b & gl c) 100 (d@) 1000
1 = de 2 R 79. WF ¥ W §U T 9 H AW 40 kg 21 AR T
2. T o T g9 % wRrd  fgall uE-foerd W gen R, @ W YR 20 ke @
6t 1ftrman e 8 #) T B | WTefl =i o1 WR a4 27
S A -9/ BT v /57 (@) 10 kg
(a) a1 (b) 15 kg
(b) FEFA 2 () 20 kg
{c) 1R 23 (@ 25 kg
(d Ad 1,982
80. T Hew e aielt <Rl a9t 45 m TR

74. UF ARG F °7 H Ied o ¥ I B Qe

@ F¢ @ TR AW h R @ | e

g wae <l fewn 3 e fifdm 0 ) e g TR #eF 30 cm FEFA ¥ MW 15 cm AR
G 1 el W o ) e e wie W Sl 81 HE o 9 F R Tew
=1, gRTE e B Fgure a9 A7 Ao STl e ) de &7

(a). 12 b) 2:1 (@ 28 (b) 29

(¢ \1%3 @ 3:1 {¢) 30 @ 31
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(d) lies between 3v and 4v km/hr *

73. Consider the following statements :

1. The minimum number of points of
intersection of a square and a circle
is 2.

2. The maximum number of points of
intersection of a square and a circle
is 8.

. )
Which of the above statements is/are

www.jkchrome.com

71l. A person X can complete 20% of work 75. How many pairs of natural numbers are
in 8 days and another person Y can ~ ‘there such that the difference of whose
complete 25% of the same work in ‘ squares'is 637
6 days. If they work together, in how (@) 3 (b) 4
many days will 40% of the work be
completed? W B (@ 2
(a) 6 (b) 8 76. Which one of the following will have

minimum change in its value if 5 is
10
(e e 18 added teo both numerator and the

72. A car travels from a place X to place Y at denominator of the fractions 2/3, 3/4,
an average speed of v km/hr, from Y to 4/5 and 5/67
X at an average speed of 2v km/hr, (@ 2/3 (b) 3/4
again from X to Y at an average speed of :
3v km/hr and again from Y to X at an @ TR @ g
average speed of 4v km/hr. Then the T77. A digit n> 3 is divisible by 3 but not
average speed of the car for the entire divisible by 6. Which one of the
journey following is divisible by 4?

(a) is less than v km/hr () 2n (b} 3n
(b) Tlies between v and 2v km/hr (c) 2n+4 (d) 3n+1
(c) lies between 2v and 3v km/hr 78. If 1 litre of water weighs 1 kg, then how

many cubic millimetres of water will
weigh 01 gm?

(a) 1 (b) 10

f¢/ 100 (d) 1000

79. A vessel full of water weighs 40 kg. If it

is one-third filled, its weight becomes
20 kg. What is the weight of the empty
vessel?

s (@) 10 kg
correctr

(b) 15 kg
(@) 1 only (). 20 kg
(b) 2 only (@) 25%kg

(c) Both 1 and 2
(d) Neither 1 mor 2

74. A man takes half time in rowing a certain

distance downstream than upstream.
What is the ratio of the speed in still
water to the speed of current?

80. A frog tries to come out of a dried well

45 m deep with slippery walls. Every
time the frog jumps 30 cm, slides down
15 ¢m. What is the number of jumps
required for the frog to come out of the
well?

(@ 1:2 b) 2:1 (a) 28 (b) 29
(¢ 1:3 (d 3:1 (¢ 30 (d) 31
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